ASSEMBLY INSTRUCTION
SB 19022-S5V - EUREKA SIDE BOARD

~ Before assembly, please read the instructions ~
~ Keep these instrucrions for future reference ~
~ Follow these steps to assemble the product ~

o ; :
SOFT,DRY CLOTH CHEMICAL HEAT KEEP DRY HANDLE WITH CARE DO NOT USE KNIFE
w (A B C D E F G H I J K1 K2 L M N1 N2 0 P P1 P2
24
< = 12uu 16 o Eﬁ-& ;a-.a [:n;nw o, w Toum % % S
= =i et et | ®
PLASTIC | CB B B cB cB CB MINIFIX | MINIFIX | METAL RI HANDLE
E DOWEL |SCREW |SCREW | SCREW | SCREW | SCREW | SCREW | CSKCAP | CSKCAP | CSKCAP [ggsg 654 | SHELF AP DRAWER SLIDE 16" DRAWER SLIDE 16" Sm:SLLES(%QME SCREW
<C | 8X25  [M3.5X12|M3.5X16 M3.5X20 | M4X30 | M4X35 | M4.5X45| M6X40 | M6X50 MBX70  |(HOUSING)| (SCREW) | SUPPORT (WHITE)-A (WHITE)-B HINGES %" Max3s
pes pes. pes pcs pes pes pes pes pes pes pes pes pcs pes s s pes pes pes
T 72 48pcs | 48, 6; 6 32, 14, 6 8 10 32 32 16 45, 8 8p. 8, 4 4
Q PUSH MAGNET R S T u v
PART LIST Q1 Q2 Q3 Q4 = -
" igl Leowac
™~
I~ O -t CB
N POWER | pPVC SOFA LEG ABSDRAWER | e\ ey | SCREW
NAIL %" | (H70mm) - BLACK |  PIN (15MM) M4x25
Apes Apes Ao Apes
168pcs Tpes Bpes Loc 28pcs

Page 1 of 6




Right View

SSSSS

PPPPPPP

16pcs Page 2 of 6




Step 4 Step 5
6X @:Q
|
= K1 M U Back View
fﬁ&g\é\, ?SO?JSING) CAP ALLEN KEY
Bpes Bpcs Bpes Lo
Step 6 Step 7

8 <
» g
] Sl
]| |+l
5 _ 5
|| ot

Back View Bottom View %
K1 M U

c Q PUSH MAGNET
(:@ % E;ewa
MINIFIX
56

Q1 Q2
54
(HOUSING)

Q3 Q4
o (> @ o o
cap ALLEN KEY g f screw Inside View
Gpcs Bpcs Lpc 16pcs Boos Apes  dpes Apes 200
Step 8 $& Step 9
Left View
b T Right View H M u
g 'ﬂﬂ N
: s >
8 ABS DRAWER
g0 PIN (20MM) exdo” cap ALLEN KEY
s Spes 2pcs 2pes Lpc Page 30f6




Step 13

Page 4 of 6

Step 12




14pes

| Page50f6 |

10pcs

Step 18

K1

'.e’

. =~

MINIFIX

5654

(HOUSING) CAP ALLEN KEY
p

12pcs

Step 20
R
—=e




Step 25 Completed

Page 6 of 6




